



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{6} =$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^0 + \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right) - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{1}{4}\right) - \frac{1}{3} =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{3}{40}\right)$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{11}{80}\right)$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{5}\right) = \frac{19}{20}$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{5} = \left(-\frac{74}{125}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{3} = \frac{52}{75}$$

$$\left(-\frac{3}{5}\right)^3 + \frac{3}{4} = \frac{267}{500}$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} = \frac{3}{10}$$

$$\left(-\frac{2}{5}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{3}{4}\right) = \frac{75}{64} = 1\frac{11}{64}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) = \frac{109}{216}$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{6}\right) = \frac{19}{48}$$

$$\left(-\frac{3}{4}\right) - \frac{3}{5} = \left(-\frac{27}{20}\right) = \left(-1\frac{7}{20}\right)$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{2}\right) = 0$$

$$\left(\frac{1}{5}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{1}{2}\right)^2 - \frac{2}{5} = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{6}\right)^3 + \frac{3}{5} = \frac{653}{1080}$$

$$\left(-\frac{1}{4}\right) - \frac{1}{3} = \left(-\frac{7}{12}\right)$$